oPT

OQC-005#1z8 A\ Ba iRz

OQC-005 Robot automatic quick changer

* #{E5kg;

KRR E S

ey LR W =Finisan

o BFLESBESMIRTAT RS B .

e Payload capacity 5 kg;

® Steel balllock system;

® Adoptthe mechanical self-locking design;

® Prevent separation separation from separating when when source of cut off.

— &EERIFH (KN ) Connection retention
— 127 (KN) Lifting force
4

— TEERR (um) Moment clearance
— {A%EERE (um) Torque clearance

50
0.9 45
0.8 40
0.7 35
0.6 18 59

2o "

X0 22
Zo4 Z20
0.3 s
02 0
0.1 5
0 0

0 02 04 06 08 1 1.2 0 5 10 15 20

#aSEMPa) %8 (N.m)

OQC-005&#E . RANHLE

OQC-005 Continuous relay, lifting force curve

OQC-005=%E . HETUHLE
OQC-005 Bending moment and torque changer curve

PNz iFe)

Mainbody

Az EEEE R E)Payload capacity 5kg
IEEEFEE Positon repeatability +0.02mm
BERYNIE 4875 [ Bending direction( Mx.My) 12.2N.m
Static allowable torque

%75 @ Torque direction( Mr) 16.9N.m
PHES (HSE 0.49Mpaht) Tight locking force (When the air pressure is 0.49Mpa) 628N

4K Main body
# & Material
BEHNHIZE D Locking mechanism

SMER T (81 ERfLock) Housing diameter(Lock when locked)

B& € Aluminum alloy
AE Alloy steel

®49xH45.5mm

HLEEA M Robot side 0.23kg
P EREE Product weight
TEM Toolside 0.11kg

FEELEH Disassembling institutions
FREERNESE Disassembling action pressure

RIFEESEESEE Allowable temperature and humidity range

NERE L B E Steel ball position lock
0.39~0.7MPa(4~7kgf/cm?)

0-55TC, 0-95%(F%5%& No condensation)

1B General BSFL Pneumatic port M5 x64
2814 (1% EL -
Coﬁ;gj(ﬁ%n)t 1B General FB{SS = Electrical signal 2A x10PIN

(Option)

RS E Module parameter

) (B)

TFBIE TFEBIR

sk ERTF = FRYRET ESAN
Model Used in Operating voltage | Working current [ Electric pin | Line length
3M

UERS S (5T)

Order number

PTSO1-10P-A HLEEAM 7.03.01.0022
Robot side X
B 50V 1A 10Pin
(A PTS01-10P-B TIEJLU 1.5M 7.03.01.0023
ool side

13 www.opt-eoat.com Data Drawings, 3D Models,Operating Instructions

Price(yuan)



88 N\ BohiRig
ROBOT AUTOMATIC QUICK CHANGER

P 9MERS OVERALL DIMENSIONS

HEEAM: OQC-005-A 20
Robot side 10

iTE4%S: 7.03.01.0001 ‘

Order number :
| 4
X | 0
|

B
Price
\\ =)
2xM3V6 2x@2.5H7V2 8-M5
GLHB AL
L: PE#STL
U: MAFHSI

~
& 2x @4 HTT3
45.5 PTS01-10P-A
A S = E ESHER
TEM: OQC-005-B
Toolside 6-M5 #SFL | PTS01-10P-B
1J8%wS: 7.03.01.0002 ESiER
Order number :
A
%.@é' é@[l ~ Y O\ 2x@4HTT25
o~

==
26 40
45.5
RS ERNSE
M3v8 = =
[ 0
2xM3v6 [ =9 T
y g oo
2x@2.572 =
10,
20
[N
P 2358 INSTALLATION DESCRIPTION
#1288 AFE Robot arm
EEEE C tine fl SRR PTS01-10P-A S ERERPTS01-10P-B
‘ &= Connecting flange ‘ 4-M3x28 Electrical connector Electrical connector
,,,,, ﬁ’m ﬁ TR M3 FEERE
! i Mounting plate tapping M3 . - 2
4-M4x28 ! I ﬁ teeth Directly installed RABEBMT AR
| ' Media through for
; pneumatic and vacuum
2-04x6 |
a 0 |
U I
1
1
| =
3 g~ 2046
|
4-M3x22 \ @ 4-M5x20
ﬂ ; ﬂw | @ ERAATE, REIR 05537
- Flange mounting plate ! Connecting fixture fixture, mounting s e
! : ! BISHEL: AP.5002000N20 LBk PL6
! tapping M3 teeth 1 plate 5.5 through hole Straight gas connector L type connector

Data Drawings, 3D Models,Operating Instructions www.opt-eoat.com 14



	页 12
	页 13

